
551-301                         

551-301                         

 

www.catalogue.bosal.com 1

VOLKSWAGEN TAIGO		  [2021+]
R-Line



 

75

75

1558

8

2

E3 55R01–7A15 Regolamento UN/ECE 55.01

www.catalogue.bosal.com



1 x 084307420300150000

B 1 x 084307430300950000

C 1 x 084307430301050000

6 x M12x35 (8.8)

6 x 12x27x2.5

2 x M12

4 1 x M6x20 (8.8)

3

F

2x M12x70 (8.8)

2x M12 (8.8)

(F52A)

5

www.catalogue.bosal.com



75

2

75

4



www.catalogue.bosal.com



5www.catalogue.bosal.com



6www.catalogue.bosal.com

 

 

A

B

C

1

1

2

2
3

2
3

1

1

2



7www.catalogue.bosal.com



8www.catalogue.bosal.com



9www.catalogue.bosal.com



10www.catalogue.bosal.com

ORIGINALE



11www.catalogue.bosal.com

x 1

M12x35 (8.8)

12x27x2.5



12www.catalogue.bosal.com

REALIZZARE
FORO Ø6

40

30

x 1x 1
M12x35 (8.8)M12x35 (8.8)

12x27x2.5

12x27x2.5

M12



13www.catalogue.bosal.com

ORIGINALE

M6x20



14www.catalogue.bosal.com



15www.catalogue.bosal.com



16www.catalogue.bosal.com


